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CIVS-219 A-19
B.Com. IV Semester Degree Examination
STATISTICS
(Quantitative - Technique - II)
Paper - I1

Instructions to Candidates :

Graph Sheets and statistical tables will be supplied on request.

SECTION-A
QW — @

I.  Answerany TEN of the following,
3UNT CIPRTTCR BHR, TJNEN GLIDAD0.

[Total No. of Pages : 4

Maximum Marks : 80

(10x2=20)

1.  Whatis secular trend? Give an example.
Depr Toded TR HOTTEHT? 2,000 BB 8RA0.
2. Write the equation of second degree parabola. '
f3ech Ferdodh TTTOORT HeFTro TN,
3. Why Fisher's index number is called ideal index number.
280 Mméoﬁ @p‘ﬁrm@m DT
4. IfP,(L)=1259and P (P)=121.9 find P, (F)
P, (L) = 12593 P (P)=121.9 gmen. P, (F) 30T &R0
5.  State the law of demand.
L 25e@F DODITI), BewD.
6. What do you mean necessities and Luxuries?
wﬁsém;b Y DTWTVNOND QOTTeNY
7.  Define surplus variable.
AYTL BOF 50,203,900,
8. Define transportation problem.
ARMords BRI, WYSYIA0.
9, Distinguish between T.P and A.P. ,
mrReds Xad, 3y Bows RFRODYIE FTyANYEY 100D
10. Define basic feasible solution in transportation problem.
TRMrdE BRRONIT e RTET RPY TOTIOE =S, ERBO.
11. - Whatis network?
200 BT SEFBEE 0BT
12. Define dummy activity.
830 (B) 23ee3e3d OB,
CIVS-219 A-19/2019 (1)

http:// www.karn atakastudy.com

[Contd....

wod Apmiseyereurey mmm//:dpy



wod Apnjseyeleurey mmam//:dny

http://www karnatakastudy.com

SECTION-B
PN — W
IL . Answer any THREE ofthe following. | (3x5=15)
81 39NS cipPTe A TFAR wvIDAD.
13. Calculate cost of living index number from the following data.
S BUNS TIO0T ReST B BRW08T, FOBLRND.

Item SR Price(:38rss) Weights 223
" T 7| Bascyear | Currentyear | I
| S0 T/ JI03 T/ 5

Food(sa0) 30 ; 47 04 !

Fuel(22053) 08 12 -0l '

Clothing(evoe) 14 18 03
| House rent(s23 an) 22 15 02

Miscellancous(220) 25 | 30 ' 0l

14. ~Calculate Five yearly moving averages for the following table.
& FYNT ToX00T TOWIDAFE BT JToBONYEY, BOmdLRND.

Year: T 2000] 2001 | 2002 | 2003 | 2004
IvBstal '
Production: 14 18 | 24 22 20
VTOE:

Year: 1 2005| 2006 | 2007 | 2008 | 2009
NR/E:

{Production: | 16 25 26 34 | 31

- |pv=RTs:
15. The demand and supply function of two commodities A and B are as follows.
A3 BIDAY 388 3y Tndf FoSnd o1 $9NT0I.
D, =12-5P,+3P; D =21+3P,-6P,
S, =3+P,; S,=15+6P, Find
i)  Theequillibrium pricesand  http://www karnatakastudy.com
BeH3eeoT BEnED R '
i)  The equillibrium quantities exchanged in the market.
FRCFIoDY0D TBOBRED . IVZOH  FHSRCOTMATE, FOIWRD.
16. Write the steps to {ind IBFS using matrix minima method.
SRYT, WITP DFPIoNI, wwTHcdeend STORT WAV X8 TOTOTDI),
FORDLBOINT TOINERY, WIRD.
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17. Solve the L..P.P Graphically.
NS Cesdod TONR ﬁmraﬁod:m*.\ e9e3e) APOROOT VRAD.
Maximise Z= 5x+4y
now 7= 5x+dy
Subject to constraints
DO .5x+2y <90
2x +1.5y <60
xy = 0.

SECTION - C
NN —
[II. Answer any THREE of the following. (3x15=45)
BYNT Wevor ThRTE Lu30/0.
18. a) Explain graphical method of measuring trend with its relative merits and
demerits.
T3S VTONT SN IPSTTY, VYN TOFITITOENRERLOOT IT[OXO.
b) Tor the following data fit the straight linc trend by the method of least squares
and estimate the earnings for 2012. |
B 3YNT I, BT [INFTY LPoTO0T ITVCeB0D T3, 30D, FR0DA
) 201200 ReFohT, oW,
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Year(3xF): | 2004 [ 2005] 2006 | 'M‘Z{)ﬁ!
Eaming(i8): | 80 [ 900 | 92| 83|
Year(®%F): | 2008 | 2009 2010|

Baingied): | 94 | 99| o2 |

19. a) Explainthe steps involved in the construction of cost of living index Number.
2T D TewRes CuTe BOINYIY, DTOAD.
b)  Compute Laspeyre's, Paasche's, Fisher's and Marshal-Edgeworth price index
Number for the following data.
& IYNT T8 c:aéo:bcs‘. m@j“ BT ) ToomE T IFTIF ¢33

3%
RRWOINTT), FOWLEBOD.
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Commoditiecs Base year Current year
STADle Gy HBOT TIF
Price Qnt Price Qnt
BSnsh  ToTere RSN TOT[ore

A 2 8 4 6

B 5 10 6 5

Cc 4 14 5 10

D 2 19 2 13

20. a) Solve the following Assignment problem.
& FYNT dodpenme IRIFODI), WRXD.

Men Job
TOTORD troz:'ifaéer‘i

A B C D
1 5 3 2 8
2 7 9 2 6
3 6 4 5 2
4 5 7 7 7

b) Use vogels approximation method to obtain an initial basic feasible solution
of the following T.P.
peees, oTREY TG0, Iod RN TREONE T XE TOTOTID,
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FOTEABCIO.
D E F G Available (¥33)

A 11 13 17 14 250

B 16 18 14 10 300

C 21 24 13 10 400

Demand(23:8%) 200 225 275 250
21. The following table gives the activities and duration of a construction project.

Activity (23230:3638): 1-2 -3 2-3 2-4
Duration (3<e@Q)(Oangg): 20 25 10 - 12
Activity (23t0ei8): 3-4 4-5 3-6 5-6 5-7 6-7
Duration (3<=3Q)(OReD): 6 = 10 8 2 5 9

a)  Draw the network for the project.
QodpessS Poww0r B3 DPCR0.
b)  Find the critical path and duration.
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